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ENGLISH VERSION

Instructions :(1) All questions are compulsory.
(2) Marks are indicated on right side.

1 (a) Write the mathematical form and uses of normal 8

distribution.

(b) The daily average profit of a business man is Rs. 12012

and S.D. of the profit is 15. Find the number of days out of

365 days on which his profit will be less than Rs. 100.

OR

1 In a normal distribution 7% of the observations are less than20

32 and 89% are less than 63. Find the mean and S.D. of the

distribution.

2 (a) Explain in detail the components of time series.8

(b) Fit the second degree parabola of the following data:12

x:01234

y:15102238

OR

2 Find seasonal variation by the method of moving average and20

also find irregular fluctuations.
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201180857877

3 (a) Explain methods of random sampling and state its8

advantages.

(b) A population consists of 1, 5, 9, 11, 14 observations.7

Write down all possible samples of size three without

replacement. Verify that mean of sample mean is equal to

population mean and find variance of sample mean.

OR
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3 Find missing values. 15

StrataNumberMeanVarianceSampleSize

A 60801210

B ? 6106

C ?? 93

??NyVy???100,7.5,0.4905? ?stst??

4 (a) Explain meaning of consistency of the data and 8

independence of attributes, state the conditions of consistency

of the data.

(b) Determine the type of association between: 7

(i) A and , (ii)  and , (iii) A and B where? ??

A ?100 B ?300 ??B 220, , , ? ? ? ? ? ?N ?500

OR

4 The information regarding blind and insane persons in two cities15
is given below. Obtain the coefficient of association by Yule

method between blindness and Insanity in two cities and compare
them.

   Particulars City A City B

Total population 2,70,000 16,200

No. of blind 1,000 2,000

No. of Insane 6,000 1,000

No. of Insane among the blind 19 9
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